1a.  p(2) = 7! / (2! 5!) .322 .685 = .3127

1b.  n = 7 x = 2 p = .3 entry is .647

               x = 1                      .329

      p(2) is the difference .318  

(differs from 1a because we used .30 not .32 in the table)

2a.  n = 100, p = .32.  smallest x = 0, largest x = 100

2b.  mean = np = 100 .32 = 32, 

      sd = root(npq) = root(100 .32 .68) = 4.66  

2c.  Normal curve with above mean and sd

2d.  Shade area above the interval [32, 47]

2e.  (32-32)/4.66 = 0   and   (47-32)/4.66 = 3.2189

2f.  z-prob for 3.22 = .4994 and for z = 0 is zero.  

     ans. .4994

2g.  continuity correction version of above

      (31.5-32)/4.66 = -.1073* and   (47.5-32)/4.66 = 3.3262

      area for z = 0.01* is .0438* and for z = 3.33 is .4996

      ans.  .0438* + .4996

2h.  for p(30) use interval [29.5, 30.5]

       (29.5 – 32)/4.66 = -.5365      (30.5-32)/4.66 = -.3219

       area for z = -.54 is .2019 and for z = .32 is .1255

       ans.  .2019 - .1255

3a.  p(6) = e-7.8 7.86 / 6! = .1282

3b.  x = 6 mean = 7.8 table gives .1282 as well

3c.  normal having mean 7.8 and sd = root(7.8) = 2.79

3d.  (5.5-7.8)/2.79 = -.8244   and   (6.5-7.8)/2.79 = -.4660

       z areas  .2939 and .1772 respectively

       ans.  .2939  - .1772 = .1167 (not so close to 3ab)

other 3 set

3b.  sd = mean = 12.5 for exponential

3c.  P(X > 3.8) = e-3.8/12.5 = .7379.

      It isn’t really rare to get X < 3.8

3d.  P(X < 3.8) = 1-.7379

3e.  P(4.1 < X < 5.4) = e-4.1/12.5 - e-5.4/12.5
      = .7204 - .6492

3f.  P(X > EX) = e-12.5/12.5 = 1/e = .3679

4a.  xBAR = 2.93 (just the avg)

4b.  s = 

root(((2.1-2.93)2 + (4.3-2.93)2 + (2.1-2.93)2) / (3-1)))

= 1.193

4c.  Margin of error of xBAR is 1.96 s / root(n) = 4.4629

5a.  pHAT = 36/88 = .4091

5b.  Margin of error for pHAT 

      = 1.96 root(pHAT q HAT) / Root(n)

      = 1.96 root((36/88) (52/88)) / root(88)

      =  .1027

6a.  See other examples done in class.

6b.  Mean of a density is same as mean of data from which it was formed.

